Exit Ticket W5 - Enlargement

Correct Answer: ABCD
Explanation:
What is the scale factor of the enlargement from Ato B? |  oiicitcissssssssasrassaisssssssssssassassassssssssssssassassassassnssnnns
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. Correct Answer: ABCD
: Explanation:
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If Shape A was enlarged, scale factor 2 from (-4, -5), what
WOU!d be the co‘ordinates Of the tOp Of the “mage? ..........................................................................
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Correct Answer: ABCD

Explanation:

What are the co-ordinates of the centre of enlargement?

(6,=4) E (5 —=4) | oo
(4’_4) n (—4,6) ..........................................................................
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